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1.Format

8 Format short—————- A==& 0|5t 4Xte

o fFormate——————- A=EH22 2

o Format long——————- a8 14Xtel

2 Format compact----447 4%i2]

o Format rad———————- T = HA

8 Format bank——————- A= 2Kt

o Format hex———-—-—- 1688 2= HA

8 VDA — e 2A5t= Az=H0|5H Xtel2
&

n F .
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1.Format

e Window belp

D] o ele] -] sle] w 2]

[0 Format shart
O pd

Ams =
31816

0 Format shert e
O pd

ans =
3. 101 e+ B0A

0 Formakt Lomg
O pd

dAms =
A1 F2E5I589TY

0 Format compact
O pd
ans =
A AEEF2E5ASESTD
[0 Format mamk
0 pi
ans =
d.14
[l Format mex
[ pd
ans =
HOFF21FLSRLuE2d18
[ vpalpi,28)

ams =
4. 1S 5ASHTFRaTaEs

0

n
a4 e G E >N || E)zanans

[[#MATLAE Comman... Fa=as - Jes

o

ENE B REERE

Bj0-process Lah



) E - W b

1) A 2820 H A

ie Edr Wndow telp
O] | ]&] -] ®E8 = 7]

[ w=23; El

[l y=18&;
0 wew

RS =
ar
O x-w
ans =
0
O ==y
ams =
s
O =y
dih =
T.602Y
[0 w"Zeg™2
ans =
TE5
[ z=x"Z+Zau-y _..J
F =
&1

O

- -

MuR| (e 4B ES | ElMcosoh Powerfoint [[SMATLAB Comma, . MATLAB Edoe/Debu,. | $aEgs - 382 | (AL 2% =22
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_.' B I
{ N
D)SHS] H| Al
o = —
b MATLAE Cormmand Window
Hile= Edt Window Help File Edit Window Help
Dl - |=|e | @ls| wl 2| Dl &= < @lie] & 2]
D x-|1|2;qr.-i'|l D :i_nu{:-:}
L ans =
1 = -1_666G7F B_a66G7F
My [ 1.33233 -a_.3333
0 w=[2 3:5 & ] 0 =."2
ans =
g -
1 I
= |
= = 16 25
[ =+y | X*y
ans =
12 15
X 5 23 32
-] 11
0 x-u [ */y
ans =
ams =
1.3333 -a_.3333
-1 -1 a_.3323 Aa_6b667
-1 =1
0O x"2 [ .y
ans =
ams 2 &
™ iz 2a 20
b | i
O |
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3) M EL Al A

= b FAATLAE Command Windows

Eile Edit Weimdoww Help
D= 2= =] mig] =] 2|

O a=[1 2 I]:b=[H S 6]:
[1 dotcf{a.bl)

ans =
32
[0 sum{a.=xb)
ans =
32

[1 cross{a.bd)

-

Columns 1 through 7

a —a.an94a —a.152a —a.383a
Columns 8 through 11
—1.2678 —1.56808 —1.8818 —2_.20008

O

Lvnungnam
3 (1) | et
i =

i bk
MNaU0nal Universty

—a_ L9468 —a.F7258a —a.98nAa
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=
LS
| =
T =
- |

2.graphic

1)plot, label, title, grid, axis @& O

g Plot(x,y)——————————- vE x8R0AM el Ct.

o Xlabel('xXHO0I&')———xHHO0IE= 22/},

o Yiabel('yHHEOIE')-—-yHEOISS 22/},

o Title(" & 0|8")————- 18l0l§= 29I,

o Text-————————————- K& = 2 X0 textE & 2l LY.

o Gtext-——————————- O AE AFEOHN text% = I CF,
o Grid on———————————- gridE Bt=L.

B Axis([x1 x2 y1 y2])———x1<xXo, yi<y<y2l &2 &=L

e ]
m Chungnam Bj0-process Lab
o .iE ul VETS




o

¥
=1

all =k

| y=0.4v1.8xE 1 EP CFAX 0.1

|o | SiEn

ex) O<x<52OI = 7

Ete Edll Hindaw  Hel

Dl o 1im - | slel wl 2|
0 w=[B:0.1:52];
Y=B.h=sqgrti] . §=x);
plot{x,.wh;

wlabel{ "% "}iylabel{ "y " bieiclef( tel");
qrid an;

axis{[® 52 O 5])

o

=

|
|8 N E P E || Mo Pows.. | AMATLAG Com... | JIMATLAG Edior.. | FRes - I8 [ Flgure o 1 [ 3 Sk 36
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%‘ Ee R . —
2)3:,*—’.‘— g H3E o fplot( &2 0| 2, [xmin xmax]) =
Ex)f=cos(tan x)—-tan(sin x)2 &S #H< 1<x<20l Al fplot2t plotH &
HE AtEot0 ddet.

i a= o ]

0 f='"cos{tan{xl]l-tamisin{=p}" : =]
FeplatifF ¥ 2]);
title{ "Fploc"}
[0 s=[A=_d0:2]z
gp=cos{tan{=}l-tamisimi=eh);:
PRt (% 0k
title{"ploE"]
]
W e e T (-]
Bils Bl Mesie  Held Bl= Edit Windaw Help
a5 - -— - s T 5 e T = T
.|| 1 |II i Pl
f | 1 I | I
| h BRI 4
g F || ' ] 3 L) 1
I, I | I L I |
™, |I [ | | I. I | !| (| I|
2 SN | 1 = { |
h I . ] 1 1
\ I | | | N | | '| | |
M I i | { | 1 i-l \
-‘2 = I\.". lI I | | _-'-' "2 d R ' | | I H | I Il
.__- ] I \ o |
e || | e e Ii || =
25 | 25|
wal 3
1 [ 14 1.8 LE: 2 I 12 1.2 16 & 2
|

Lo
e e B LE || EMosar | Amanasc. | asss - | meoee b 1 [[WFgure No._. gliMATLASE | |TRE Rm =8 =0

W =i i L TR Zrrearne uUu-pJlulecoo LLAd
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3)subplot2} log® E

a Subplot(m,n,p)—————- mxnJHel &2 &= S0 pE M
20l 8= el

g Semilogx————=——=——— x=0F = & H
Semilogy——————————- y=0t U= &tH

o Loglog=———==————="—- x,y= U= & H

Ex)y=4x?, 0<x<50, Ax=0.50CH &+ (1)plot(x,y)

(2)semilogx(x,y) (3)semilogy(x,y) (4)loglog(x,y)2l &
= subplotE 0|E0t(d 1ddct.

[ L AL LR L U-PJIULEDD |—(1s
f‘ '? h-a,..‘;n: | M arey
‘#.‘H‘.‘l NG RG] W TR Gl



[0 e=[0:8.5:58];

subplot{2,2,1);plot{x,y);elabel{ "« ) ylabel{ ") tltlef linear-1inear scale');grid om;
subplob{2,2, 2);senilogui{x, gl sxlabel] ¥ Jiplabeld 'y dstithef " log-linrar scale');grid om;
subplot{?, 2, 3);semilogy{x,pl;xlabel | " j;plabel{ 'y’ J;title(  linear-log scale');grid om;
subplot{2,2 4} :loglogl{x gl ;elabel{ %" }iulabelf '} ititlef " log-log scale®):grid on

lingas-linear scalo

---.------:--.-.-"'---I

AR | G E 8 ] Micosoh Powe,.| AMATLAS Com,. | S(RE2E - 20 @ | MATLAS Edior. || Figure No. §

Chungnam
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=3 & Bt —
4) ]IS, 8 =5 L A —
AZOB | 2 | HOE | 7= A 7%

Dot % Solid - BHyellow) y
Asterisk | * Dash -~ | #A4{magneta) m

Cross ¥ | Dash Dot | - A% (cyan) C
Circle 0 Dotled ‘ A(red) '

Plus + =(green) g
Square L] A(blue) b
Diamond | © ¥ (white) W

Star % Z(black) h
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Ex)x=cos t, y1 :Cos(t+0.2_5),y2=cos(t+0.5)9l

I

|
it
[0
Jz
10
i
<
P
lJ |
N
I

0 e=[ozpiriep:2spl];

w=COS{L) ;uT=cos(t=0. 25} sgZ=cos{ L0, 5]

llnt{"1!1 T Rt R i

Eikle{ "PRase Shift” Fimlabwly "w=casiE} "'} ;yl.‘-:l { 'yrcmd{E+H")
0

il

-
# 3
i)

=]
MuR] | & G E 5| iMicrossh Pawa., | AMATLAS Com,., | $RSSE - Q92| PEMATLAS Edier [ Fiawe No, 1 [ 28 =808

v M & vnungnam jo-process La
U Nafional University




1, i

[ . - r—_ll_ i
=
3. L2 )
Escape &=}
EFascapes X A o
\n New Line
A\t Horizontal tab
b Baukﬁ_-_]::ace
NI Carriage return
“\F Form feed
LR N FEA]
- VT er 7 = Y
2626 %6 I A
H 7=
He Z|= 0 A =
26f 2= of 1 31.5 = %6f4.1)
260 A}
265 =Ara
Zhe Zl==( <f: 1.23el10)
by T 2l=( o: 1.23E10)

jo-process La
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3)IM-fileZ & &

M-file= Matlabd H=EZ M H Al file= 2l0|6tH CIE A HE
subroutineOl Lt functionidt 22 XA =2 2/0].
M—file 1)function mode—&I & gi= B0t M HALS 831 =&
AR BUFE S42MO IS0l = S
2)script mode-—-F&0H L= g2 Xt = X
Matlab= & &ist =0l ZE M Icorn “New File”= %QBPE‘

“Matlab editor/debugger”text editorJt =CH. 4 J10f M
file=2 & & etL}.
1)Function mode
S Al
Function[output_1,output_2,,,]=f/n_&==(input_1,input_2,,,)
2)Script mode

mm”“ungnﬂm w'o-erocess Lag)
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File Edit Window Help

D] 2|22 = 88 & 2

[0 r=3;

[ wol=nam{r}
r=3.880 vol=113.0897335%

vol =
113.8973

[0 nn

vol =

113 .0973

Elﬂl

‘-'ll'_-i.:-l“l'lﬂ

Nabonal Unwersdy

* . MATLAB Editor/Debugger - [CMATLABYbinnam, m]

Eile Edit Miew Debug MWindow Help =8| x|

D@ 2w @] &gl wlalEE see

function [vall =namir}
yol=( 4/ 3+pi=r"3
lfprintf('r=%5.3f wol=%10. 790", rwol)

Ready Lined  [B11 PM

= MATLAE Editor/Debugger - [CtMATLABY binnn, m]

[d File Edit “ew Debug Window Help 8] =]

DiS(E| 2= Sl2] alel 2lElEE] se]
r=3

wol=(4/3)=pi=r"3

Ready Line 1 a1z PM

U-PDIULEDSDS LA



Nege
1.if &
f==

2.switch &

Qo L2 )ed AL
2 == if(if~else~end)

—_—

HD

OF& DRI 2 Gtz if(if~end) 2
0| UL,

22 (o2 BIESHE N2 A 220 A 2|2k Al

=010 &

unungnam
L il

switch &t (A2 C= 211Y)
)

otherwise

end

w'o-erocess Lag>



IIHL'

ke | o —
X)—10<x<10 & 2 0l A >5O|E£| yv=In(x) , O<x<5O|C’1| y \/TF x<00| &
y=e*-1& Hl&tOL(d 2t

Eis Edd Wirduw Help

=
HE )G
y=Len(x)
cseis w8 I I [ =
y-sgri{xh . .
L Elle Edt Wirndow Haol
wrexplx}l-1
end :I'_‘i-!II 10"
plab{=,yl
o= | II
Columns 1 through 13 II
-18 -9 -8 -7 — -5 i -1 -2 -1 i 1 151 |
Columns 13 Ehrough 74 I|
z a n L & i 0 0 18 1 | 1
f
I|'
iy = D_B ..I
1. Be-B0h -
/s
Columns 1 through 7 1l -
-@p.n@m -9.0@n1 -0.0801 -0.08m -0.@AM -0.8Am -0, enm
Columns B thraugh 1% -D-?m = 5 = e
- 0B -@9.080 -8 0an (] 0. eanz 0., mang n. ey
Columns 15 Ehrough 21
0. 095 Y . BT . annz 0. 1096 n.2980 n.A1nz2 7.0mes
O
o
_-l =—— _ e
MNR| 2q e &G 'R | [E]Mcosh Pomeifoist.,, | SAMATLAB Commans . | Jl]MATLAB EdinyDebu. .| [ @ Figure No, 1 TR ki
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e e | -

Ex)xgt0] 201 H y=x+2, x2t0] 30|H y=2xgt, LI Xl= 02
Aol T2 )= =0 2l

=
=

b PATLAE Cormmand Window < b FAATLAE Command wWindosw

File Edit Window Help File Edit Mindoww Help
D] 2 |fs|e] | @|s] s 2| Dl wlejem] =] @|is] sl 2|
O ==2;
switch = a
case 2.,
y=x+2 [0 ==13;
case 3, switch =
=2 Ccase 2.,
otherwise , y=x+2
u=a case 3,
end y=2%x
otherwise ,
L uy=8a
end
I
y =
O ==3;
switch = a
case 2.,
y=x+2 O |
case I,
=223k
otherwise ,
u=8
end
y =
i}
O ==5;

switch =

case 2.,
y=x+2

case 3.
p=22Enr

otherwise ,
u=8
end

=l =l
BANT] | @ 5 B = B || ElMicrosort Powe.. | i @AM 24 & 5y B 22 88 || ElMicrosoft Powe... | &
chungnam lo-process La
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(Loop_)

—
ol =2

2)

1.For loop

It
BA

Ki0

S

=
(L

0

L=%7|2

=

For Bt=

-l

K0
1]

End

I;

—

2.While

rocess La
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4

Ex)vol=(4/3)x1r2 2t (1)r=2, (2)r=1:5 for2 AtZ,
(3)0<r<b while2 AtE0tH 26+ et.

b MMATLAE Cormmand Window

b MMATLAE Command Windows

<) MMATLAE Cormrmand Window

File Edit WWindow Help File Edit Window Help File Edit Window Help
0= 22w < 8ig & 2] O] 2 e =] ®lie] = Dl 2=l 2| Blig] &) 2
O v=2; ol =
vol=(4/3)*pi*xr"3
S23.5988 ro=
vol = C .B88aa S23.5988 I
33.5183 O r=—13 4._.8008 268.8826
while r<5
0O for r=1:5 r=r=+1
vol=(4/3)xpi=r"3 vol=({8/ /3 xpi*r"3; r =
disp{[vr,vol]) disp{[v,uvol]);
end end 5
r = C.0888 L23.5988
vol =
a O
L _1888
a a
1.8888 4_1888
=
vol =
1
33.5103
1._8888a L _1888
2.88808 33.5183
=
vol =
2
113 .8973
2 ._888a 32 .5183
2.8888 113.8973
- =
vol =
]
268 _088B24

3. 808088 113 .8973
4._d88a8 268B_08206

« M % Lnungnam w'o-erocess Lag,,
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% Generate a temperature conversion table, followed by a graph
% Instructor: Nam Sun Wang

clear all % Start fresh

C =[0:100]; % Generate a column vector of x from 0 to 100
F=32+1.8*C,; % Convert from Celsius to Ferenheit

[C F] % Display in tabular format
pause % Pause for non-Window operating environment (e.g.,
DOS)

plot(C,F) % Display in graphical format; C in x-axis; F in y-axis

save 'templ.dat' C F -ascii % Save data in a file; C before F in 1-
column format

combine=[C F]; save 'temp2.dat' combine -ascii % Save data in a file
In 2-column format

mm”“"ngﬂﬂm W’o-erocess Lag,.
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File Edit Wndow Halp Fila  Edit Window Hslp

Dl | lsf -] slgl ® 2 ol e | @)El B gl

[] C=[@:i00]; Golumns 57 Chirsugh 63

Fed2+1 . 8el;

1G.F] 6. Baan LY _nnan SH.Dnan R _nnBn 6n.paan G1.0nea 63 Bean

plotit,

title] Tem conversion®),2labeli C'),ylabel("F*) Columns &b Chrough Fi

AN = 63 . hRan i . AnaR 65 . haan &6 . ARRA a7 . Baan GH.ARBR &0, BA00
Lalumns 1 thiaugh 7 Columms #1 through 7

Columns 8 through 14 Columns 78 through B4

7.0000  0.0000  9.0000 100000 11.0000 12.6000 13.gp00 | 77-0000 7E.600D - 79.0000  BO.8000  €1.0086 82.0000 63.0000

Colunns 15 through 21 Eolumg §5 through ¥

10,0000 15,0008 16,0000 17,0000 1R800 19,0008 28,0000 Hh. 0000 BR.0000 86.0000 BY.00DB  BB.0DAD  B9.00DB  9O.0ead

Columas 22 through 24 Rolumie B2 Larough ¥

21,0000 270000 29.0000 240000 95.0008 760000 o7.oppg o -DO00 D2.BODR - ©3.DRGD - DL-DOUR - 9S.0REO  Da.BoOR - D7.DbRh

Columns 29 through 3% A RO

20.0000  2P.0080  G0.0000  31.0008  GF.0000  35.0000 3% 0000 O kSR B O o il o o

. y ’ Columns 186 thirough 112
Colums 36 through &

I0.2000 H1.0088  LKP.OADAD  NWAGOBE  WG.LORD  WE.FOBRE 50,0000
a5 menn  36.0000  GT.0000 0 38.0000  30.0000  RO.0000 490000

Colums 113 through 119
Columys W3 Chirough 49

S1.8000 53.6008 554000 S7.P0OR 50.0040  A0.B00B  &2.5000
L2_oBe0w  h3.000B By Q000 45 0000 WG 000R  RT.0000  LE._0Dow

Columns 128 throogh 126
Colomys S0 Uhrough 54

O, 4BA0 467000  AH. 0000 A0 BODR  F1.6000 FI.h0DR  5.2000
LY. nogn  S0.0000  S1.0000 0 52.0000 2 S3.0000 L4 0084 550000

I]Chungnam jo-process La
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<) MATLAB Command Window
File Edit Window Help

|| 5 [=le] =] Blig & 2]

Columns 127 through 133
77.8808 78.808@ 8P.6PG0  82._4B08
Columns 134 through 148
80.6008 O1.4080 93.2008 05._0000
Columns 141 through 147
162.2008 104.0080 165.8000 167.6008
Columns 148 through 154
114.8008 116.6000 118.4808 120.2008
Columns 15% through 161
127.4008 129.2080 131.0000 132.8008
Columns 162 through 168
140.0008 141.8000 143.6800 145 . 4008
Columns 169 through 17%
152.6008 154.4080 156.2800 158.0008
Columns 176 through 182
165.2008 167.0000 168.8880 170.6008
Columns 183 through 189
177.8008 179.6080 181.4800 183.2008
Columns 198 through 196

190.4008 192.20808 194.0008 195.8008

Chungnam

| WS I e i
'lE'.'q."\E'un rt‘ET‘r

84

06

1689

122.

134.

147

159

172

185,

197

2000

.2000

.haeg

G880

.2000

.8000

.hooe

.Go0a

86.

08

111

123

136

149,

161

174,

186

199

.60800

.2800

.8o6068

.4800

.60800

2000

.2600

.4a@8

87

180,

113.

125

138

150.

163

176.

188

2m

go0o

Laon

.Go0e

.2800

gooo

.4ang

.6000

.2000

<V MATLAB Cornrmand Window
Window  Help

D[ &[22 »] 8ls] & 2]

Columns 197 through 282

2083.0000 204.8000 206.6000 208_4000 210.2000

EFigure Mo, 1

Window Help

Tem conversion

-process Lag



L

% Use "inv", " (pre-division), or "*-1", to solve a set of linear algebraic
equations in MATLAB

% Ax=Db
% A minimum hard-coded example; not recommended.
% Instructor: Nam Sun Wang

% Start fresh -------------- -
clear all
% Input matrix/vector coefficients from the problem discussed in class
% 3*x1- x2+2*x3=12
% X1+ 2*x2 + 3*x3 =11
% 2*x1-2*x2- x3= 2
% The coefficients for matrix A are (in row-wise order):
A=[3-12;123;2-2-1];
% The coefficients for column vector b are:
b=1[12;11,; 2];

S —— U-pruLess Lad I
f‘ '? r-E,. arval [ [ mearests
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% Solve the linearset of eguations by calling the "inv*function =] &
= inv(A)*b;
% Print results ------------——--
disp('The solution with the "inv" function is ...")
disp(x)
% An alternative way by pre-diviSion -----------===--—mmmom -
X = A\b;
% Print results ------------=—--
disp(‘The solution with pre-division is ...")
disp(x)
% Yet another way by raising to -1 power -------------=-----=zomommm—-
= AN(-1)*Db;
% Print results ---------=--——- -
disp('The solution with ~-1 is ...")
disp(x)

G'O-Erocess La;>




« b MATLAE Command Window
File Edit Window Help

D[] =@l | @ & 2]

0 a=[3 -1 2;1 2 3;2 -2 -1]:

b=[12;11:2]:

#=inv{a)=b;

disp{'The solution with the "inv" Ffunction is...")
disp(x)

The solution with the "inv" function is...
3.80888
1.80808
2.8888

[] %==a%b;
disp{ 'The solution with pre-division is ..."}
disp{=)

The solution with pre-division is ...
2.84088
1.8488
2.0888

O x=a"{(-1)=b;
disp{'The solution with -1 is...")
disp{=)

The solution with “-1 is...
3.8080
1.8088
2.80888

Chungnam lo-process La
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% Calculate n!
% n ...the given integer (input)
% fact ... product of a sequence of numbers (i.e., factorial) (output)

% This function works for scalar input only, not matrices.

% This is valid only for n<22 (because n! can fill up a real variable fast--In
Matlab, numbers are real numbers, not integers).

% 21'= 51090942171709440000

% 22!1=1124000727777607680000 ...true value

% 22'=1124000727777607700000 ...value returned by fprintf('%25.0f,
fact(22))

%
% For 21<n, the error becomes increasingly severe.

% Matlab provides the following two functions: factorial(n), prod(1:n)

fact=1,
fori=1:n
fact = factxi; s
EMEFUW  naional Unversty T —————



- ) MATLAE Command Windaws

Eile Edit Window Help

0| 2 2lel 2| s)E & 2]

[0 n=4;

O fact=1;

for i=1:n
fact=Fact=i
end

fact

fact

fact

24

fact

MATLAB Editar/Debugger - [CMATLABWDinact, m]
["] File Edit Miew Debug Window Help -18] x|
OB 2 E=le &2 &l T EEE] stack]
function y=fact(n)
fact=1.
fori=1in
fact=fact=i
end
Ready Line 4 1142 AM
lo-process La



